Vocabulary and Concept €
1. VOCABULARY Describe the difference between a linear function and a

nonlinear function.

2. WHICH ONE DOESN'T BELONG? Which equation does not belong with the
other three? Explain your reasoning.
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Practice and Problem Solvin

Graph the data in the table. Decide whether the function is linear or nonlinear.

T 3 X 0 1 2 3 4. x 1 2 3 4
v | 4 | 8|12 16 v | 1] 2|62
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y |21l15)10] 6 e ~7 (=341 ].5

Does the table or graph represent a linear or nonlinear function? Explain.
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11. VOLUME The table shows the volume V (in cubic feet) of a cube with a side length
of x feet. Does the table represent a linear or nonlinear function? Explain.
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Does the equation represent a linear or nonlinear function? Explain.

@12, 2x+3y=7 13, y+x=4x+5 14.y——§§

15. SUNFLOWER SEEDS The table shows the cost
o y (in dollars) of x pounds of sunflower seeds.

_ a. What is the missing y-value that makes
3 T the table represent a linear function?

4 . 5g0 b. Writealinear function that represents
e the cost y of x pounds of seeds.

16. LIGHT The frequency y (in teraheriz) of a light wave is a function of its ™
wavelength x (in nanometers) Does the table represent a hnear or non]mear

function? Explain.

Color | Yellow

Wavelength, x 660 595 530 465 400

Frequency, y 454 504 566 645 749

17. IJG.HTHOUS_:ES The table shm:\fs the "~ Lighthouse . Heiéht, X Steps,y
I}elghts x (in feet) of four Florida PoncedeTaanTaiet | ¢ 175 213
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19. = The radius of the base of a cylinder is 3 feet. Is the volume of

the cylinder a linear or nonlinear function of the height of the cylinder?

FGI[‘ Game Review what you learned in previous grades & lessons
each
Classify the angle as acute, obtuse, right, or straight. | SKILLS REVIEW HANDBOOK

20, 72— 22 /\ 23.,[

24. MULTIPLE CHOICE What is the value of 2 }/)SElGHids 320
@ 30 @ 60 © 90 @ 180




